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1995 2005 2015

RENDIMENTO	ATTESO 7,5% 7,5% 7,5%

VOLATILITA'(	ST.DEV) 6,0% 8,9% 17,2%

16,5% di	probabilità	di	
ottenere	un	rendimento	

inferiore	a:
+	1,5% - 1,4% - 9,7%

Pr	(Ret<0%) 10,6% 20,0% 33,1%

Su	un	orizzonte	di	10	anni
ogni	quanti	anni	mi	aspetto	di	
avere	rendimenti	negativi?

10 5																				3	

MAGGIORE	RISCHIO	A	PARITA’	DI	RENDIMENTO
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BENCHMARK	BOND	GERMANIA	E	ITALIA	- Tasso	Decennale

Germany	Benchmark	Bond	- 10	Year Italy	Benchmark	Bond	- 10	Year

TASSI	SEMPRE	PIÚ	VICINI	A	ZERO
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PIÚ	DEL	50%	DEI	
TITOLI	DI	STATO	
NEL	MONDO	
HANNO	
RENDIMENTI	
NEGATIVI
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LO	STOCK	DI	BONDS	CON	RENDIMENTI	
NEGATIVI	HA	SUPERATO	I	10	TRILIONI	DI	
DOLLARI,	QUASI	IL	25%	DEL	TOTALE
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Please see important disclosures at the end of this report.
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PART 1: THE CURIOUS CASE OF THE DISAPPEARING VOLATILITY

A- THE THEORETICAL FRAMEWORK

QE or not, asset prices should equal the present value of their 
expected cash flows. For a security that pays a fixed coupon for 
infinity, such as a perpetuity, the equation can be simplified to:

P = C/r

Where P is the price, C the annual coupon, and r the discount 
rate (assumed to be constant in this case).

For a security that pays a dividend that grows at a constant 
rate for infinity, the simplified equation is 

P = (C*(1+g))/ (r-g)

Where P is the price, C the annual dividend, r the discount 
rate, g is the growth rate of the dividend (both ‘r’ and ‘g’ are as-
sumed to be constant in this case).

The net present value equation is usually a lot more com-
plex in the real world, because future cash flows are volatile and 
uncertain, and because yields are different at each point on the 
curve. But the shape of the relation between prices and interest 
rates is similar to the curve shown below:

 � The function is negative

 � The function has positive convexity: a small change in rates 
when rates are low has a much greater impact on prices than 
the same change when rates are high

The logical conclusion is that all else equal, asset price vol-
atility should increase when rates are close to zero.
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You are here. 

Source: NDRG 

NET PRESENT VALUE OF A $5 PERPETUITY

ELEVATI	RISCHI	DI	
PERDITA	IN	CASO	DI	
RIALZI	DEI	TASSI
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